Best model for HELP_J160654.459+550612.276 atz = 1.574 x%=1.87
OPTx?=2.05 IRx?=1.98 threshold (OPT IR)=20.59 [um]

102 3 . Stellar attenuated

i = Stellar unattenuated
m —— Dust emission

—— AGN emission

= Model spectrum

® Model fluxes

M oObserved fluxes

10 4

100

Flux [m])y]
|_I
<

1072 'é"!-:"\'“"m~».i"T‘*M"""-‘\\_ﬁ
1073 3
107 4 IS
X ] :
o) 1 : 8
= 1 . “
© 1 —}= (Obs-Mod)/Obs
S
S /
0
o 01+=- =T AT ————— - —————
[0)
= 1
-1 - CIGALE
3]
o

10° 10! 102 103 104 10° A
Observed wavelength [um]



